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BFEH CERIB) 202146858
FRA HES| 4038 | XEE(EH| KX | #E [ER1] $17 | Bk | 5 | BE | RS |EHED | - |sEFr] 88 A B
=15 8.0 [15.0 4.0 5.0 32.00 | 4] 14
BigT 15.5 |15.0 5.0 5.0 40.50 |4 8

(FEE L) 0.0 |15.0 3.0 5.0 23.00 |3
RE=E 17.5 |15.0 4.0 5.0 41.50 [4]| 6
#HE 25.0 {15.0 5.0 5.0 50.00 |4] 1
g 10.5 [15.0 5.0 5.0 3550 |4] 9
EE 18.5 [15.0 5.0 5.0 43.50 4] 5
EH 22.5 [15.0 5.0 5.0 41.50 |4 3
EET 18.0 |15.0 3.0 5.0 41.00 [4]| 7
HET 11.0 [15.0 4.0 5.0 35.00 |[4] 11
R 23.0 |15.0 5.0 5.0 48.00 | 4| 2
(FEILE) 8.5 |15.0 4.0 5.0 32.50 |3
(FLE=H) 3.5 |15.0 5.0 5.0 28.50 |3
Ba 3.5 [15.0 5.0 5.0 28.50 | 4] 15
(hnE I 7E) 14.0 [15.0 3.0 5.0 37.00 |2
BiTE¥ 0.0 [15.0 3.0 5.0 23.00 | 4] 16
i e 20.0 {15.0 4.0 5.0 44.00 | 4| 4
(JERRE) 20.0 |15.0 5.0 5.0 45.00 | 2
(BE%) 0.0 [15.0 3.0 5.0 23.00 |4
BT 13.0 [15.0 1.0 5.0 34.00 |[4] 12
fHET 9.5 [15.0 3.0 5.0 32.50 | 4] 13
iR 11.5 |15.0 4.0 5.0 35.50 [4] 9
a5t 273.0 |330.0 88.0 110.0 801.00
14 12.4| 15 4 5.0 36. 40
bt 25 15 5 5 50

TFEEH (FRIE)

FRA FHEE| A0 | RSB EH1| X | #E [ER1] $17 | Rk | 5 | BE | RS |BED | - |ssFr]| FE A B
(BE) 0.0 [15.0 3.0 5.0 23.00 |2
(FE=E L) 0.0 [15.0 3.0 5.0 23.00 |1
REREE 17.0 |15.0 3.0 5.0 40.00 | 4| 4
Py 19.0 {15.0 5.0 5.0 44.00 | 4] 3
122 14.5 [15.0 5.0 5.0 39.50 | 4] 5
EE 9.5 [15.0 4.0 5.0 33.50 [4] 6
£H 25.0 [15.0 5.0 5.0 50.00 | 4] 1
HE 21.0 [15.0 4.0 5.0 45.00 | 4| 2
B\a 3.5 [15.0 4.0 5.0 27.50 | 4] 8
(hne )1 76) 0.0 [15.0 2.0 5.0 22.00 |3
B E¥E 0.0 [15.0 2.0 5.0 22,00 [4] 9
THIEE 10.5 {15.0 2.0 5.0 32.50 |4 7
55t 120.0 [180.0 42.0 60.0 402.00
iy 10.0 |15.0 3.5 5.0 33.50

R 25 15 5 5 50
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BFEEH (ERLIE) 202146858
FRA HES| 4038 | XEE(EH| KX | #E [ER1] $17 | Bk | 5 | BE | RS |EHED | - |sEFr] 88 A B
#HE 25.0 [15.0 5.0 5.0 50.00 4| 1
R 23.0 |15.0 5.0 5.0 48.00 | 4| 2
EH 22.5 [15.0 5.0 5.0 41.50 |4 3
AT 20.0 [15.0 4.0 5.0 44,00 4| 4
EE 18.5 |15.0 5.0 5.0 43.50 | 4] 5
P 17.5 [15.0 4.0 5.0 41,50 4] 6
EET 18.0 |15.0 3.0 5.0 41.00 [4]| 7
BT 15.5 |15.0 5.0 5.0 40.50 |4 8
R 10.5 [15.0 5.0 5.0 3550 |4] 9
3 R 11.5 [15.0 4.0 5.0 35.50 |4] 9
HET 11.0 [15.0 4.0 5.0 35.00 | 4] M
IR T 13.0 [15.0 1.0 5.0 34.00 (4] 12
fHET 9.5 [15.0 3.0 5.0 32.50 (4] 13
=iF 8.0 [15.0 4.0 5.0 32.00 | 4] 14
BA 3.5 [15.0 5.0 5.0 28.50 | 4] 15
BiTE¥ 0.0 [15.0 3.0 5.0 23.00 | 4] 16
(JERRE) 20.0 |15.0 5.0 5.0 45.00 | 2

(hne )I78) 14.0 |15.0 3.0 5.0 37.00 |2
(FEILE) 8.5 |15.0 4.0 5.0 32.50 |3

(ILE=H) 3.5 |15.0 5.0 5.0 28.50 |3

(FEEIL) 0.0 |15.0 3.0 5.0 23.00 |3
(REEF) 0.0 [15.0 3.0 5.0 23.00 |4
&t 273.0 |330.0 88.0 110.0 801.00
14 12.4| 15 4 5.0 36. 40
bt 25 15 5 5 50

ZFEE VERIE)

FRA FHEE| A0 | RSB EHI| BX | #E [ER1] $17 | Rk | 5 | BE | RS |BED | - |ssFr]| BE A B
£H 25.0 [15.0 5.0 5.0 50.00 |[4] 1
il 21.0 |15.0 4.0 5.0 45,00 | 4| 2
Py 19.0 [15.0 5.0 5.0 44.00 | 4] 3
REREE 17.0 |15.0 3.0 5.0 40.00 4] 4
122 14.5 [15.0 5.0 5.0 39.50 | 4] 5
EE 9.5 [15.0 4.0 5.0 33.50 [4] 6
ISR 10.5 {15.0 2.0 5.0 32.50 |4 7
B\a 3.5 [15.0 4.0 5.0 27.50 | 4] 8
B E%E 0.0 [15.0 2.0 5.0 22.00 | 4] 9
(BE) 0.0 [15.0 3.0 5.0 23.00 |2
(F=E R IL) 0.0 [15.0 3.0 5.0 23.00 |1
(hng )1 78) 0.0 [15.0 2.0 5.0 22.00 |3
55t 120.0 [180.0 42.0 60.0 402.00
iy 10.0 |15.0 3.5 5.0 33.50

R 25 15 5 5 50



